
Aluminum corner mounting bracket for dome cameras using a pendant wall mount and bullet cameras.

Weight: 1.24 kg (2.73 lbs)

•	 Female inserts
•	 Compatible with:

•	 Pendant Wall Mount (H4A-MT-WALL) for H4A Pendant Dome Cameras
•	 Pendant Wall Mount (CM-MT-WALL) for H4 SL, H4 Fisheye and H4 PTZ 

Dome Cameras
•	 HD Bullet Cameras (H4A-BO-IR)
•	 H4 SL Bullet Camera (H4SL-BO-IR)
•	 HD Bullet Camera Junction Box (H4-BO-JBOX)

•	 Wall mounting hardware not included
•	 RAL 9003

Included components for Avigilon 
camera and accessories:

•	 4 x Hex head bolts (3/8” – 16 x 1”)
•	 4 x Lock washers (3/8”)
•	 4 x Flat washers (3/8”)
•	 4 x Hex head bolts (M4-0.7 x 30)
•	 4 x Lock Washers (M4)
•	 4 x Flat washers (M4)

H4-MT-CRNR1

INCHES

MM

 
1.141
28.98  

 
1.601
40.68  

 
2.475
62.87  

 
1.013
25.72   

1.013
25.72  

 
2.375
60.33  

5.500
139.70   

3.435
87.25  

0.394
10.00

1.044
26.52

0.157
4.00

 
8.498

215.84  

 
5.906

150.00  

 135.00° x 2 

 
0.440
11.18  

 
2.909
73.90  

 
0.394
10.00  

 
1.394
35.40  

 
1.000
25.40  

 
4.606

117.00  

Corner Mounting 
Bracket

 SUPPORT  asksales@avigilon.com  |  avigilon.com

© 2015-2016, Avigilon Corporation. All rights reserved. AVIGILON, the AVIGILON logo and TRUSTED SECURITY SOLUTIONS are trademarks of Avigilon Corporation. Other product names mentioned herein may be the trademarks of their respective owners. 
The absence of the symbols ™ and ® in proximity to each trademark in this document is not a disclaimer of ownership of the related trademark. Avigilon Corporation protects its innovations with patents issued in the United States of America and other 
jurisdictions worldwide: www.avigilon.com/patents. Unless stated explicitly and in writing, no license is granted with respect to any copyright, industrial design, trademark, patent or other intellectual property rights of Avigilon Corporation or its licensors.

Oct.2016 — Rev2

mailto:asksales%40avigilon.com?subject=
http://avigilon.com
http://www.avigilon.com/patents

